HERIAZ / Components
No. £ #5 / Part name E / Pcs #E / Material 2 - RE LI / Color-Finish

1 IL—L 4 TIVEIRH A A6063S-T5 SIA— - TILIA & DY TR

Frame Extruded aluminium A6063S-T5 Silver * Anodized with clear coated
2 a—F—JBvYy 4 ABSHE UL94HB SANTL—, TSvY - VR

Corner block ABS UL94HB Light gray , Black
3 d—+ —% v~ / Blind plug 8 TI5AKMT / Elastomer S48 L—, T5v%9 « R / Light gray , Black
4 INAAF+INF)L / Slide panel 1 7 IJLE4R / Aluminium A1100P t=1.5 2 )LIN—=F LAk / Silver * Anodized
5 BARA/ SR JL / Open—closing panel 1 7 ILZAR / Aluminium A1100P t=2.0 2 JLIN—=TF LA / Silver * Anodized
6 FEE/\UF)L / Flat handle 1set RS 1 ¥ v b / Diecast zinc 2 )LiN— - BRI / Silver - Painted
7 £ / Hinge 1set HFERA 1/ F v A / Diecast zinc 2 JLiN— - ¥ / Silver * Painted
8 HR{TE R(M4 x 15 ) 16 # =Zfiyni—k

Screw(M4 - 15 Pan head) Steel Trivalent chromate

N
4 /Title f\ |/|
TAKACHI| #ARHIHTFEHITE BERAzt O FO— LRy R O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. OPEN-CLOSING CONTROL BOX
= RJE/Scale
/A d UR/C d FIF/Prod b
BRI ERELD / Color Type(End of product numberL]) V3 pprove #2[X]/Checked UK /Create & /Product number P4
S22 / Code |*E@/ o F/LIEHE / Flat Handle Type || S22 / Code | /8L / Panel | JL—L / Freme | a—7— / Corner FCW6-20-15NL] / FCW6-20-15K[]
N fB4E / Normal type GS < )LIN— / Silver < JLsX— / Silver SAKS'L— / Light gray 1R x iR - 1/ 5
K $21F / Key lock type BS 2 JLiN— / Silver < JLiN— / Silver 7594/ Black e B /Date 2023/08/02




L —L348] / Frame3 side

150

JL—L148l / Framel side

~— <5
200
24 < B
= ;
o "z_ !
- |
e
TH 3 E
: | 12 A
A :
40.5 |e B 29.5
L —L24| / Frame2 side
=N

i

A-A(1:3)

B/ N RILE®I~Ti% / Open—closing panel MAX dim. 154

(43)

B3h~TiE / MAX dim. 154

INARAFHINRILEFZNT % / Slide panel MAX dim. 160

L —LA48] / Frame4 side

62.9

B-B(1:3)

B#~Ti% / MAX dim. 56.5

B/ SRILEZ~Ti% / Open—closing panel MAX dim. 104

25.7

BT / MAX dim. 104

INARAFHFINRILE T E / Slide panel MAX dim. 110

C: 7L—LY5KE / Frame cross—section

F+vkL—JL / Nut rail
A/ FyrRiE )
BFEA T avfh RSARF Y FZ-3 #FANDEBLNEERET,
Groove for slide nut
Slide nut FZ-3 (sold separately as optional parts) can be inserted.

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fn4a/Title
AKX rO—ILRY IR

OPEN-CLOSING CONTOROL BOX

o]

A& 8/ Approved

1% [X|/Checked

£

#IX]/Created

iR

B F /Product number

FCW6-20-15N] / FCW6-20-15K[]

RFE/Scale
1:3

{EBL B /Date 2017/07/10

2 /5




18.1
8.7
4.05
1.2

1.65

18.1

25

8.7
45

154

19.7
13.7
JL—.L1 / Framel
8.2 ™~
A
) o —_—
e o
1 1.8 - N
|| 5.7 o 3
6§” o
GS ﬂ L 1|
Q — __
™~
A
13.7 4-M4

FvkL—JL / Nut rail 9-M3 5 144 5

JL—.L\2 / Frame2

0\ n

7 \
N Ve
4 A\

&
K

4 /Title
BRRMIHNFEHTE SL—1s1 2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Framel’ 2
7 ER/Approved & X]/Checked #IX/Created FIF /Product number RFE/Scale
H62.9-W200 12
ES iR 3 /5
YEFtE/Date  2017/07/10




18.1
8.7
4.05
1.2

1.65

18.1

25

8.7
45

104

19.7
13.7
L —L3 / Frame3
8.2 ™~
X
= « _
(S &
/| 18 o N
I 57 5 3
<
6§” /o4
GS D [ |
Q — e
™~
X
13.7 4-M4
22.7 < 8 o
P —JL / Nut rail
FvkL—JL / Nut rai M3 5 04 5
TL—L1\4 / Frame4
% ;(5@ e — ————
G 9 I |

N\ n
i M

fnd/Title
BRRMIHNFEHTE JL—A3 . 4 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3’ 4
752/ Approved 1% [X|/Checked #IX]/Created R /Product number RE/Scale
H62.9-D150 1:2
F iR 4/ 5
{ERL B /Date 2017/07/10




BAE/ SR JL / Open—closing panel

24

171
158

Bt / MAX dim. 1475

13

25.5

121

~Ti% / MAX dim. 104
70

)]

]

2-R6

INAAFHINA L / Slide panel

121.9

B#~Ti%E / MAX dim. 110

Bxh~Fi% / MAX dim. 160

171.9

18.1

84.8

J\FJLZRE /Panel Frontside

18.1

/N2 LR /Panel Frontside

fREEL—MA

Surface protective film side

REES—MMA

Surface protective film side

SL_

/X1 )L H/Panel Backside

/\A~JLEEH /Panel Backside

1.5
fnda/Title
TAKACHI| %A INWFERIE ISR (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
7 &R/ Approved 1#[X]/Checked #X/Created #13 /Product number RE/Scale
W200 - D150 125
P 2 P -

{ER B /Date 2020/06/17




	FCW6-20-15.pdf
	シートとビュー
	FCW6-20-15-モデル





